Solving Linear-Quadratic Systems Graphically (on a Calculator)
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Example:
Solve the system of equations. Cheek your solution.
y=22+3c-5
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Press the “Y =" key to open the graphing.
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Enter cach equation into the caleulator.

Press the "GRAPH" key to graph the lncs.

Press the “2ND blue key and “TRACE"
key to show the CALCulate screen.

Choose option 5, “Intersect.”

“The calculator will ask you to place the
cursor close tothe ntersection on the first
curve (object).
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Use the let and right arrow keys to move
the cursor close to the intersection and press

NRHSELD fressowumts “ENTER".
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e Do thesame fo the second curve (ine).
(You eally just need o hit the “ENTER”
key again)
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[re=@apen Hitthe “ENTER” key again to have the
caleulator fnd the point ofinersection.
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“The coordinates for the solution are not
whole numbers. The caleulator gives the
solution o seven decimal places. The
solution i about (162, 5.08)
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Repeat the steps above for the second point
of ntersection. This time, use the left and
right armow keys to move the cursor closer to
the other intersection.
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“The calculator gives another approximate
Solution. The solution is about (-2.78, 2.14)
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“The solutions (o the system of equations are about (1.62, 5.08) and (-2.78, 2.14).
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CHECK

ym20 s Vo cansheck youe answer by sbiting
(5.08) = 2(1.62)" + 3(1.62) - 52 the coordinates into both equations.

5.08: 1088
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(5.08)=2/3(162)+4 ?
5.08=5.08V

y=2¢+3c-5
(2.14) = 2(-2.78)" + 3(-2.78) - 57
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NOTE: It may be more beneficial o include the entire values for the x- and
y~coordinates when checking the solutions. When rounding the calculator’s
solutions it may be acceptable to skip the CHECK.

NOTE: When the graphs of the linear and quadratic equations do not
intersect (i.¢., there is no solution) the “intersect” function of the caleulator
will give an error reading

You can see this with the following example:
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